Homework Set 15 C
PH 112 – 10
Q1.	A simple pendulum is mounted in an elevator.  What happens to the period of the pendulum (does it increase, decrease, or remain the same) if the elevator (A) accelerates upward at 5.0 m/s2; (B) moves upward at a steady 5.0 m/s; (C) accelerates downward at 5.0 m/s2.  Justify your answer for each situation.

P1.	You pull a simple pendulum 0.240 m long to the side through an angle of 3.50° and release it.  (A) How much time does it take the pendulum bob to reach its highest speed?  (B) How much time does it take if the pendulum is released at an angle of 1.75° instead of 3.50°?

P2.	A building in San Francisco has light fixtures consisting of small 2.35-kg bulbs with shades hanging from the ceiling at the end of light, thin cords 1.50 m long.  If a minor earthquake occurs, how many swings per second will these fixtures make?

P3.	After landing on an unfamiliar planet, a space explorer constructs a simple pendulum of length 50.0 cm.  She finds that the pendulum makes 100 complete swings in 136 s.  What is the value of g on this planet?

P4.	A rocket is accelerating upward at 4.00 m/s2 from the Launchpad on the earth.  Inside a small, 1.50-kg ball hangs from the ceiling by a light, 1.10-m wire.  If the ball is displaced 8.50° from the vertical and released, find the amplitude and period of the resulting swings of this pendulum.
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